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2.8.1
2.8.2
2.8.3
2.8.4
2.8.5
2.9

(A

18
18
18
19
19
20




o/
1

Wo
w1
w2
w3

= W0 + W1+ W2+ W3

= WO + W1 + W3

0.150 (m)

0.150 x

23.500 (kN/m?)

23.500

3.525 (kN/m?)
0.490 (kN/m?)
1.470 (kN/m2)
0.000 (kN/m?)

5.485 (kN/m2)
4.015 (KN/m?)

FORUMS8



2
2.1
2.1.1
AX32-39
I = 327.500 (cm)
b = 45.000 (cm)
Ma = 590.000 (kN.cm)
Ra = 7.060 (kN)
2.1.2
I EHE OSSR E w =W Xb =—£ﬁ§-x 45,000 = 0.025 (kN/cm)
100X 100
= 5.485 (kN/m?)
b ( ) = 45.000 (cm)
W = 0.025 (kN/cm)
[ 1
S A B o
1 = BETRPOES = 327.5 (cm)
2.1.3
. X 1*  0.025 X 327.500°
BAEIFE—RAL b M= w8 = - = 330,919 (kN. cm)
M = 330.919 (kN.cm) Ma = 590.000 (kN.cm) --> OK
w : = 0.025 (kN/cm)
l: = 327.500 (cm)
M : = 330.919 (kN.cm)
Ma : = 590.000 (kN.cm)
2.1.4
w X 1 0.025 X 327.500
R = = = 4,042 (kN
=7 > > (kN)

R =4.042 (kN\) Ra=7.060 (kN) --> OK

w : = 0.025 (kN/cm)
I : = 327.500 (cm)

R : = 4.042 (kN)

Ra : = 7.060 (kN)

FORUMS8



2.2
2.2.1

2.2.2

C )

(4]

-h
D T M = N r~
11 1 11 1 1]

(

[EY

A

o
1

JEA TR R D553 A A E

T=b A E A OE S i

12mm( )

12.000 (mm)
24.000 (cm®)
14.400 (cm*)
550.000 (kN/cm?)
1.370 (kN/cm?)
0.300 (cm)
100.000 (cm)

1 = BESRIEY HE = 45 (cm)

5. 485

o =W — 7 % 100,000 = 0.055 (kN/cm)
100X 100
., 4.015

o =W = — " % 100.000 =  0.040 (kN/cm)
100X 100

= 5.485 (KN/m?)

= 4.015 (KN/m)

( 1) = 100.000 (cm)

0.055 (kN/cm)
0.040 (kN/cm)

FORUMS8




2.2.3
. X 1* 0. 055 X 45.000*
BREIFT— AL b M= — - - = 13.884 (kN. cm)
M 13. 884
0“4\\ § b = — = = O 578 kN 2
HTIEHE o 7 21,000 (kN/cm?)
o b = 0.578 (kN/cm?) fb = 1.370 (kN/cm®) --> OK
M : = 13.884 (kN.cm)
ob : = 0.578 (kN/cm?)
w : = 0.055 (kN/cm)
1: = 45.000 (cm)
Z: = 24.000 (cm®)
fb : = 1.370 (kN/cm?)
2.2.4
5 X o X 1 5 X 0.040 X 45.000"
0 max = = = 0.271 (cm)
384 X EI 384 X 550.000 X 14. 400

6 =0.271 (cm) da=0.300 (cm) --> 0K
: 0.271 (cm)

0.040 (kN/cm)
45.000 (cm)

550.000 (kN/cm?)
14.400 (cm*)
0.300 (cm)

(o]
€ (o]
QO w= [T == -
N
1 I O | R S N I 1

FORUMS8




2.3 ( )
2.3.1
: 12mm( )
( 2) t= 12.000 (mm)
Z-= 24.000 (cm®)
2 I = 14.400 (cm)
E=  550.000 (kN/cm?)
fb = 1.370 (kN/cm?)
fs = 0.120 (kN/cm?)
da-= 0.300 (cm)
( 1) b =  100.000 (cm)
2.3.2 « )

<
)
Z- W1 = 3.525(kN/m2)
<
Lo
~ [aN]
g
S
© ] W2 = 9. 400 (kN/m2)
Lo
(e
S
[ap]
r W3 = 16. 450 (kN/m2)
= W4 = 17. 625 (kN/m2)
W1 = Wex H1 =23.500 x 0.150 =  3.525 (kN/m?)
W2 = Wex H2 = 23.500 x 0.400 =  9.400 (kN/m?)
W3 = Wex H3 =23.500 x 0.700 = 16.450 (kN/m?)
W4 = Wex H4 = 23.500 x 0.750 = 17.625 (kN/m?)
Wo - = 23.500 (kN/m%)
Hi - (m

HL = 0.150 (m)
H2 = 0.400 (m)
H3 = 0.700 (m)
H4 = 0.750 (m)

FORUMS8




2.3.3

2.3.4

12.925 (kN/m?)
9.400 (kN/m?)
16.450 (kN/m?)

100.000 (cm)
0.129 (kN/cm)
0.129 (kN/cm)

14.541 (kN.cm)
0.606 (kN/cm?)
0.129 (kN/cm)

30.000 (cm)

24.000 (cm®)

C )
1
Sy AR R B
1 =H3 - H2 = 30 (cm)
W2 +W3 9. 400 + 16. 450
- = = 12. 925 (kN/m?)
2 2
12. 925
w =W X b = — X 100.000 = 0.129 (kN/cm)
100 X100
o = o = 0.129 (kN/cm)
W =
w2 : H2 =
W3 : H3 =
b ( 1 =
W =
w’ =
L =H3 -H2 = (0.700 x 100) - (0.400 x 100) = 30.000 (cm)
. X 1? 0.129 X 30.000°
BREFE—AL b M= = = - = 14.541 (N, cm)
M 14. 541
0‘\4\\ § b=—= = 0. 606 kN 2
TSI E o 7 51,000 (kN/cm®)
ob = 0.606 (kN/cm?) fb = 1.370 (kN/cm?) --> OK
M =
ob: =
w =
| = H3 - H2 =
Z: =
fb : =

1.370 (kN/cm?)

FORUMS8




2.3.5

2.3.6

BREAMS Q= 2>< L 0129 >2< 20900 _ -y g5 (kN)
- ok X Q 1000 X 1,939
HAWISIIE © = . = 120,000 = 0.016 (kN/cm’)
T = 0.016 (kN/cm?) fs = 0.120 (kN/cm?) --> OK
T = 0.016 (kN/cm?)
Q : = 1.939 (kN)
w : = 0.129 (kN/cm)
I : = H3 - H2 = 30.000 (cm)
K = = 1.000
A : = 120.000 (cm?)
fs = 0.120 (kN/cm?)
5 X o X 1! 5 X 0.129 X 30.000
0 max = = =0.172 (cm)
384 X EI 384 X 550,000 X 14.400
5 =0.172 (cm) 3 a = 0.300 (cm) --> OK
o : = 0.172 (cm)
w’ = 0.129 (kN/cm)
I : = H3 - H2 = 30.000 (cm)
E : = 550.000 (kN/cm?)
I 2 = 14.400 (cm)
da = 0.300 (cm)

FORUMS8



2.4
2.4.1

2.4.2

@ 48.6x 2_4(STK500)
Z = 3.830 (cm®)
A= 3.483 (cm?)
2 1 = 9.320 (cm*)
E = 20600.000 (kN/cm?)
fb = 23.500 (kN/cm?)
fs = 13.400 (kN/cm?)
da-= 0.300 (cm)
]
AT E o
1 = B OKEH AR = 60 (cm)
EAMIE b = (Eﬂi;;lﬁi +(H4 - H3) | X 100 = (0'700 ; 0-400 ", (0.750 - 0.700) | X 100
= 20.000 (cm)
W2 +W3 9. 400 + 16. 450
S WA ; + 17.625 2
W= ; = ; = 15.275 (kN/m")
15. 275
w =W Xb=——"— X 20.000 = 0.031 (kN/cm)
100X 100
o’ = o = 0,031 (kN/cm)
b : ( 1) = 20.000 (cm)
H2 : (2 = 0.400 (m)
H3 : @) = 0.700 (m)
H4 - 4 = 0.750 (m)
W - = 15.275 (kN/m?)
w2 : H2 = 9.400 (kN/m?)
W3 : H3 = 16.450 (kN/m?)
W4 - H4 = 17.625 (kN/m?)
() = 0.031 (kN/cm)
W’ = 0.031 (kN/cm)

FORUMS8




2.4.3

2.4.4

2.4.5

TABIEHE =

HREITE—A M=

HFIEHE ob = %

o b = 3.589 (kN/cm?)

RREAWTS Q=

w X 1 0.031 X 60.000°
8 8
13. 748

= 3.589 (kN 2
3. 830 (kN/cm?)

M :
ob:
w :
1 :
Z :
b :

1 0.031 X 60,000

2

T = 0.526 (kN/cm?)

5 X o x 1

X
2
X Q 2.000 X 0.916
A 3. 483

T

5 X 0.031 X 60.000°

= 13.748 (kN. cm)

fb = 23.500 (KN/cn?)

0.526 (kN/cm?)

fs = 13.400 (kN/cm?) --> OK

= 0.027 (cm)

0 max =

384 X EI

o = 0.027 (cm)

384 X 20600.000 X 9.320

o a=0.300 (cm) -->0K

13.748 (kN.cm)
3.589 (kN/cm?)
0.031 (kN/cm)

60.000 (cm)
3.830 (cm®)

23.500 (kN/cm?)

.526 (kN/cm?)
.916 (kN)
.031 (kN/cm)
.000 (cm)
.000

3.483 (cm?)
.400 (kN/cm?)

.027 (cm)
.031 (kN/cm)
.000 (cm)

000 (kN/cm?)

.320 (cm*)
.300 (cm)

FORUMS8




- 10 -

2.5 ( )
2.5.1
ERIEIE X h = 1.200 (cm)
AR (B EXRIE Y MR b = 45.000 (cm)
S A=b X h =45000 X 1.200 54. 000 (cm?)
b X h*  45.000 X 1,200
T T AR5 = L= 2 - 10.800 (cnr’)
b X h*  45.000 X 1.200°
Wi 2k E— A > b I = = 6. 480 (cm®)
12 12
h 1. 200
T TAT 29K o422 i = — = 0. 346 (cm)
J12 J12
E = 550.000 (kN/cm?)
fb = 1.370 (kN/cm?)
fc = 0.822 (kN/cm?)
2.5.2
AN = 4.04(kN)
W1 = 3.52(kN/m2)
=
°
()
Lo
[aN]
B
W2 = 9. 40 (kN/m2)
=
<
()
S
[ap)]
C
W3 = 16. 45 (kN/m2)
Wl +W2 3.525 + 9.400
B = = = 6.463 (kN/m%)
2 2
=W, X b—ﬂ X 45,000 = 0,029 (kN/cm)
W 4p AB 100X 100 . . cm
X Ls*  0.029 X 25,000
T AL R My = - %= - = 2.272 (kN. cm)
W2 +W3  9.400 + 16,450
B = = = 12.925 (kN/m?)
2 2
= Wy X b—w X 45,000 = 0.058 (kN/cm)
@ = e " 100x 100 R o
X Lg’  0.058 X 30.000°
T AU R My = 2 5 ® = : = 6.543 (kN. cm)

FORUMS8
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2.5.3

2.5.4

AB
Lis 25. 000
AAB = - = = 72.169
i 0. 346
fky = fc(1-0.007 1 ,) = 0.822 X (1-0.007 X 72.169) = 0.407 (kN/cm®)
BC
Lre 30. 000
A‘BC = - = = 86. 603
1 0. 346
fke = fe(l — 0.007 L) = 0.822 X (1 - 0.007 X 86.603) = 0.324 (kN/cm®)
AB
N Mas 4. 042 2,272

+ = + = 0. 338
A X Tk Z X fb 54. 000 X 0. 407 10. 800 X 1,370

= 0.338 1.0 -->0K

BC
N Msc 4. 042 6. 543

+ = +
A X Tk Z X fb 54.000 X 0.324 10.800 X 1.370

0.673

= 0.673 1.0 --> 0K

FORUMS8
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2.6
17.5 ¢ 17.5
T
35.0 cm
2.6.1
: 12mm( )
( 2) t= 12.000 (mm)
Z= 24.000 (cm®)
2 1 = 14.400 (cm*)
E=  550.000 (kN/cm?)
fb = 1.370 (kN/cm?)
0a-= 0.300 (cm)
2.6.2
= 0.750 (m)
= 23.500 (kN/m%)
Wo =  0.750 x  23.500 = 17.625 (kN/m?)
( ) w1 = 0.490 (kN/m?)
w2 = 1.470 (kN/m?)
w3 = 0.000 (kN/m?)
W = W0+ WL+ W2+Ww3 = 19.585 (kN/m?)
W o= wo + w1 = 18.115 (kN/m?)
~ 19. 585
G EHOESAME o =W X b = ———— X 100.000 = 0.196 (kN/cm)
100X 100
OB EHOESMME o =W X b= _18 15 100.000 = 0.181 (kN/cm)
100X 100
W = 19.585 (kN/m2)
w = 18.115 (kN/m?)
b ( 1) = 100.000 (cm)
W = 0.196 (kN/cm)
w’ = 0.181 (kN/cm)

FORUMS8
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2.6.3
. X 1° 0.196 X 17.500°
BREIFT— AL b M= — - - = 7.497 (kN. cm)
M 7.497
0“4\\ § b = — = = 0312 kN 2
HTIEHE o 7 51,000 (kN/cm?)
o b =0.312 (kN/cm?) fb = 1.370 (kN/cm®) --> OK
M : = 7.497 (kN.cm)
ob : = 0.312 (kN/cm?)
w : = 0.196 (kN/cm)
1 : = 17.500 (cm)
Z: = 24.000 (cm®)
fb : = 1.370 (kN/cm?)
2.6.4
5 X o X 1 5 X 0.181 X 17.500"
0 max = = = 0.028 (cm)
384 X EI 384 X 550.000 X 14.400

6 =0.028 (cm) da=0.300 (cm) --> 0K
: 0.028 (cm)

0.181 (kN/cm)
17.500 (cm)

550.000 (kN/cm?)
14.400 (cm*)
0.300 (cm)

(o]
€ (o]
QO w= [T == -
N
1 I O | R S N I 1

FORUMS8
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2.7
2.7.1 A ( )
B A
17.5 N 17.5
3I5.O cm
1
60x 2.3
Z= 9.440 (cm®)
2 1 = 28.300 (cm*)
E = 20600.000 (kN/cm?)
K = 2.000
fb = 16.300 (kN/cm?)
fs = 9.300 (kN/cm?)
0a-= 0.300 (cm)
2) A
[ 1
SN E o

1 = KR5I#ERE = 100 (cm) ‘

JEA TR R D553 A A E

= AatHE A

DA R

(O]

g
I

>

19. 585
WXb = ——
100 X 100
, 18. 115
W X b= —
100X 100
W :
w
b (
w
(A)’

X 17. 500 =
X 17. 500 =
) =

0.034 (kN/cm)

0.032 (kN/cm)

19.585 (kN/m?)
18.115 (kN/m?)
17.500 (cm)

0.034 (kN/cm)
0.032 (kN/cm)

FORUMS8
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o X 17 0.034 X 100. 000"

HREITE—A M= o = . = 42,842 (kN. cm)
. M 42,842
BT IE ob = 7 = 9 110 = 4,538 (kN/cm®)

o b = 4.538 (kN/cm?) fb = 16.300 (kN/cm?) --> 0K
M : = 42.842 (kN.cm)

ob: = 4.538 (kN/cm?)
w : = 0.034 (kN/cm)
I : = 100.000 (cm)
Z: = 9.440 (cm®)
b - = 16.300 (kN/cm?)
X 1 0.034 X 100. 000
EREAWS Q= wz = ) = 1.714 (kN)
X 2.000 X 1.714
EAWIEHE ¢ = — . L =17 = 0.663 (kN/cm)

T = 0.663 (kN/cm?) fs = 9.300 (kN/cm?) --> OK

T = 0.663 (kN/cm?)
0 : = 1.714 (kN)

w : = 0.034 (kN/cm)
I : = 100.000 (cm)

K : = 2.000

A : = 5.172 (cm?)
fs : = 9.300 (kN/cm?)

5 X o X 1 5 X 0.032 X 100.000*
0 max = = = 0.071 (cm)
384 X EI 384 X 20600. 000 X 28. 300

& =0.071 (cn) & a = 0.300 (cm) --> OK

o : = 0.071 (cm)

w' o = 0.032 (kN/cm)
l: = 100.000 (cm)
E : = 20600.000 (kN/cm?)
1 : 2 = 28.300 (cm®)

da: = 0.300 (cm)

FORUMS8




- 16 -

2.7.2 B ( )
B 17.5 Alp 17.5
35.0 cm
1)
60x 2.3
Z= 9.440 (cm®)
2 I = 28.300 (cm)
E = 20600.000 (kN/cm?)
K = 2.000
b = 16.300 (kN/cm?)
fs = 9.300 (kN/cm?)
0a-= 0.300 (cm)
2)
= 5.485 (KN/m2)
= 4.015 (KN/m?)
= 19.585 (kN/m2)
= 18.115 (kN/m?)
B
w X x 1/2 +
X x 1/2
w = X x 1/2 +
X x 1/2
3 5.485 X 327.500 + 19.585 X 17.500 % 1 _
@ 2 100X 100
4.015 X 327.500 + 18.115 X 17.500 1
[OREES —

X
2 100 X 100

0.107 (kN/cm)

0.082 (kN/cm)

FORUMS8
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o X 17 0.107 X 100. 000"

HREITE—A M= o = . = 133.692 (kN. cm)
. M 133, 692
Hﬂﬂﬁﬁu‘?ﬁ&f Ob = ? = m = 14. 162 (kN/CmZ)

ob =14.162 (kN/cm?)  fb = 16.300 (kN/cm?) --> OK

M : = 133.692 (kN.cm)
ob : = 14.162 (kN/cm?)
w : = 0.107 (kN/cm)
I : = 100.000 (cm)
Z: = 9.440 (cm®)
fb : = 16.300 (kN/cm?)
X 1 0.107 X 100. 000
BREAMS Q= — 5 = ) = 5.348 (kN)
X 2.000 X 5, 348
EAWIEHE ¢ = — . L =17 = 2.068 (kN/cmb)

T = 2.068 (kN/cm?) fs = 9.300 (kN/cm?) --> OK

T = 2.068 (kN/cm?)
Q : = 5.348 (kN)

w : = 0.107 (kN/cm)
I : = 100.000 (cm)

K : = 2.000

A : = 5.172 (cm?)

fs : = 9.300 (kN/cm?)

5 X o X 1 5 X 0.082 X 100.000*
0 max = = = 0.182 (cm)
384 X EI 384 X 20600. 000 X 28. 300

& =0.182 (cn) & a = 0.300 (cm) --> OK

o : = 0.182 (cm)

w' o = 0.082 (kN/cm)
l: = 100.000 (cm)
E : = 20600.000 (kN/cm?)
1 : 2 = 28.300 (cm®)

da: = 0.300 (cm)

FORUMS8
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2.8
2.8.1

2.8.2

2.8.3

(A

W T T E
T AR AW E

RTE—A N M=

HFISE ob =

ob =

100x 100x 3.2

Z = 37.500 (cm®)
A= 12.130 (cm?)
1 = 187.000 (cm*)
E = 20600.000 (kN/cm?)
b = 16.300 (kN/cm?)
fs = 9.300 (kN/cm?)
da-= 0.300 (cm)
)
LrpgrE P
| 1 = XZHERE = 35 (cm) |
Pl =® X b =0.034 X 100.000 = 3.427 (kN)
P2 = ©’ x b =0.032 X 100.000 = 3.170 (kN)
() A = 0.034 (kN/cm)
w' - A = 0.032 (kN/cm)
b : ( ) = 100.000 (cm)
P1 : = 3.427 (kN)
P2 : = 3.170 (kN)
P1 X L 3.427 X 35.000
= = 29.990 (kN. cm)
4 4
M 29. 990
— = = 0.800 (kN/cm?)
Z 37. 500

0.800 (kN/cm?)
Mo

ob:

P1 :

1 :

Z :

b :

fb = 16.300 (KN/cn?)

--> 0K

29.990 (kN.cm)
0.800 (kN/cm?)
3.427 (kN)
35.000 (cm)
37.500 (cm®)
16.300 (kN/cm?)

FORUMS8
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2.8.4

2.8.5

RREAWS Q= % = 3':27 = 1.714 (kN)
walEaE o= %~ 5 000 x 112' 71132 = 0.283 (kN/cm’)
T = 0.283 (kN/cm?) fs = 9.300 (kN/cm?) --> OK
T = 0.283 (kN/cm?)
Q : = 1.714 (kN)
P1 : = 3.427 (kN)
K = = 2.000
A : = 12.130 (cm?)
fs = 9.300 (kN/cm?)
P2 x 1° 3.170 X 35.000°
0 max = = = 0.001 (cm)
48 X EI 48 X 20600. 000 X 187.000
6 = 0.001 (cm) o a=0.300 (cm) --> 0K
o : = 0.001 (cm)
P2 : = 3.170 (kN)
1 : = 35.000 (cm)
E - = 20600.000 (kN/cm?)
I : 2 = 187.000 (cm*)
da = 0.300 (cm)

FORUMS8
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2.9

Pa

327. 500

5.485 X

PS40-1

100. 000

19.600 (kN)

100

35. 000

+ 19.585 X

100. 000

100

P = 12.409 (kN)

100

100

X

X

Pa = 19.600 (kN)

1
2
1

5 - 12. 409 (kN)

—-> 0K

x 1/2

x 1/2

FORUMS8
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